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® Use black ink or ball-point pen.
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Answer all questions.

Write your final answers in the boxes provided.

Answer the questions in the spaces provided — there may be more space than you need.
You must show clearly how you get your answers in the spaces provided. Marks will
be awarded for your working out.

Check your working and your answers at each stage.

Diagrams are not accurately drawn, unless otherwise indicated.

If your calculator does not have a © button take the value of & to be 3.14
Calculators may be used.

Information

® The total mark for this section is 42
® The total mark for this paper is 56
® The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.
® This sign [v] shows where marks will be awarded for showing your checks.

Advice

® Read each question carefully before you start to answer it.

Turn over
® Check your answers if you have time at the end.
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SECTION B
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Answer ALL questions. Write your answers in the spaces provided.
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1 InJune Gemma paid £68 for her electricity.
In July she will pay 5% more for her electricity.
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Work out how much Gemma will pay for her electricity in July.
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(Total for Question 1 is 3 marks)
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2 The table gives some information about the number of visits to a gym last month.
number of visits tally frequency
1-5 HIT T
6-10 HTHIT HAT HTHT HITHITHT 11
1-15 HT HIT HITHT |
more than 15 Hﬂ Hﬂ \
e a
(a) Complete the frequency column.
(1
N\ J
e \
(b) On the grid, draw a suitable graph for this information.
(3)
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(Total for Question 2 is 4 marks)
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3 Alfie sells flooring for playgrounds.
He has this diagram of a playground.

15m

4m

9m 3m lawn
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The playground is rectangular 9m by 15m.
The lawn is rectangular 3m by 4m.
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Alfie will put flooring on all the space inside the playground but not on the lawn.
The flooring costs £36 per square metre.
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Work out the total cost of the flooring. s
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(Total for Question 3 is 5 marks)
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4 Josh is designing gift boxes.
He designs these boxes.

4 =3 D

Josh needs to know the shape of the boxes from different views.

)

shape 1 shape 2 shape 3 shape 4

Place the correct numbers in the space to complete the sentences.

( R
(@) Shape ... is the plan view of the cylinder. (1)
N J
e N
(b) Shape ... is the front view of the triangular prism. (1)

N J
e N

(c) The triangular based pyramid has ... faces, . edges and
.......................................... vertices. (1)
. J

(Total for Question 4 is 3 marks)
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5 Kate has this information about the total monthly sales for a shop in 2018

170
160
150
140
130
120
110
100
920
80
70
60
50
40
30
20
10

Total sales

Jan Feb Mar Apr May Jun Jul Aug Sep Oct Nov Dec
Months

Kate needs to put this information in a table.
The table must show the total sales for each quarter of the year.

quarter 1 (Jan to Mar)
quarter 2 (Apr to Jun)
quarter 3 (Jul to Sep)

quarter 4 (Oct to Dec)

4 N\
Draw and complete a suitable table for Kate.

(3)

(Total for Question 5 is 3 marks)
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Karen is a cake designer.

She is designing different shaped cakes.

AB and BC are two sides of a parallelogram.

(@) On the grid, complete the parallelogram.

(1)

Here is a regular pentagon.

(b) Draw all the lines of symmetry on this pentagon.

(1)

Here is a regular hexagon.

-

(c) What type of angle is angle x?
Tick the correct answer.

(1)

right angle

acute angle reflex angle

obtuse angle
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Karen is making a birthday cake.

The top of the cake needs to be triangular with one side length 10cm, one side
length 12.cm and a 90° angle between these sides.

e N
(d) Draw the top of the cake for Karen.
Use the grid below to draw the top of the cake.

(3)

2cm

2ch

(Total for Question 6 is 6 marks)
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7 Daniel has these test results

. . 14 . 13 . 6
0, R = —
public services 46% maths 25 English 20 art and design 10
His tutor wants to compare these results.
-
List the subjects in order from his best result to his worst result.
Show why you think this. (3)
\
(Total for Question 7 is 3 marks)
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(@) Write 3 as a fraction in its simplest form.
60 (1
N J
A group of dancers raised some money for a charity.
Here is some information about the money raised.
mone(yi;alsed number of dancers
4.99 or less 15
510 9.99 23
10 to 14.99 12
15 to 19.99 7
20 to 24.99 3
total 60
One of the dancers is chosen at random to give the money raised to the charity.
s N
(b) What is the probability that this dancer raised less than £10?
(2)
\ J
(Total for Question 8 is 3 marks)
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9 Joanne is buying a pair of shoes in Europe.
The length of her foot is 27.5 cm.

Joanne uses these rules to work out her European shoe size.

C—

Y

length in cm
- @@/

length of foot

-

+2.5
-

Y

in inches

&

length in inches

x 3

- @@/

Joanne thinks her European shoe size is 38

European shoe

size

-

Is Joanne correct?
Show why you think this.

(4)

(Total for Question 9 is 4 marks)
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10 Sarah has a snack at work each day.
She has this information about the snacks she had last week.
day Mon Tue Wed Thu Fri
snack banana chocolate biscuit cake crisps
number of calories 105 260 49 257 234
Sarah thinks the mean number of calories in these snacks is more than 200
s ~N
Is she correct?
Show why you think this. (3)
g J
(Total for Question 10 is 3 marks)
J
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11 Aliis preparing for a race.

He runs laps around a football pitch to prepare for the race.

The length of each lap is the total distance along the four edges of the pitch.

90 m

A
\J

pitch 75m

Ali needs to run at least T0km.

~
(@) What is the minimum number of complete laps Ali should run?

(4)
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(b) Show a check of your answer.

(1)

(Total for Question 11 is 5 marks)

TOTAL FOR SECTION B = 42 MARKS
TOTAL FOR PAPER =56 MARKS
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